Rally Coach — Simple Percentages. Increase and Decrease

35% cf\F £20 65% EF £70

15% of 30km 95% of 40Kkg
Increase £45 by 40% Increase £65 by 30%
Dectease 3509 by 20% Decrease 70m by 70%
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Answers

A B
35% of £20 65% of £70
10% = £2 10% = £7
5% = £1 5% = £350
35% = £7 65% = £4550
15% of 30km 95% of 40Kkg
10% = 3km 10% = 4kg
5% = 15km 5% = 2kg
15% = 4.5km 95% = 38Kg
Increase £45 by 40% Increase £65 by 30%
10% = £450 10% = £650
40% = £18 30% = £1950
140% = £63 130% = £8450
Dectease 3509 by 20% Decrease 70m by 70%
10% = 35¢ 10% = m
20% = 70g 710% = 49m
80% = 280g 30% = 2Im
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